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1 The s-orbital of any atom is -
(1) Dependent on sin@ (2) Dependent on cosf
(3) Dependent on sin&cos@ (4) Independent of angles
Rpdl wTm] @1 s-HER T -
(1) sin® X i (2) cos® W Fix
(3) sin@cos® W Tix (4) o TR Sk

2 Which of the following will act as an acid in SO, according to solvent
system concepts ?

(1) Na,SO4 (2) HCI

() socCl, 4)  K,S0,

Reme d dwedT & g SO, § @ ofd @ g &GN ?
(1) NayS03 (2) HC

(3) soC, 4  K,S0;

3 Which of the following statement is not correct for an electron that have
the quantum numbers # = 4 and m = 2 7

(1) The electron may have the quantum number s = + 1/2
(2) The electron may have the quantum no. / = 2
(3) The electron may have the quantum no. / = 3

{4) The electron may have the quantum no. / = 0, 1, 2, 3

UH SHaEN s n=4Ud m=2% 0 o9 O 96 & & T 7
(1) SOEM FieT T@ & b § s = + 172
2) TNEgH F@iew den A awdt ¥ /= 2
(3) IAEE FEieH GO W THEN /= 3
(4) ToECE wEiew Wem @ dadl 8 /=0, 1, 2, 3
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4 Which of the following is correct for TGA method ?
(1) Sample heated up to 2000°C
(2) Sample heated up to 1000°C
(3) Sample heated at 200°C
(4) Sample heated at 500°C
7 & ¥ TGA Ry & dadu & =9 @ %em @& ¢ 7
(1) WU B 2000°C 96 ™ fpar s T
(2) ®um H 1000°C 9% T fFa wmEr ¥
(3) WG ® 200°C W ™ REar S B
(4) d9d @ S00°C ° T TR SR T

5 The number of orbitals possible for 5 f sub-shell is -
(ny 7 2 9
3 3 )
5/ 3U By % T dwida saw @ gen § -

LV

(1y 7 2) 9

Led

Gy 5 4)

6 How many sigma and pi bonds are present in tetracyanoethylene ?

() Nine ¢ and nine 7 (2) Five x and nine ¢
(3) Nine ¢ and seven #  (4) Eight ¢ and eight z
CeEEgAEe § R ud ug sl At e fead wnw ?
1) o A g (2) 99 XA o

B) Wo Rud x (4) 9B o S A 7
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Which technique used can provide information about physical phenomena
such as second order phase transitions 7

" (1) Thermo Gravimetric Analysis
(2) Differential Thermal Analysis
(3) Differential Scanning Calorimetry
(4) None

B W qepiiee ol IuArT Wifaes ghae, @ B g S werer dwa,
B I qdl & 7

(1) a9 9roes g (2) Tad aflm fersemm
(3) G mudigw swml (4) Swded W ¥ diE ey

Clock pendulums are made from -

(1) Bronze (2) Invar

(3) Bell metal (4) Gun metal
uel & Ygew fewa T @@ ¥ 7

(1) @ (2) FWER

() A ug @) T ug

Which type of analytical method is used to identify quantitatively the
chemical composition of a compound by observing it's thermal behaviour
on heating ?

(1) TGA (2) DTA
(3) Both (4) None

B W WIHS oty g fhar Rfies & oo @1 o9yt @9 O adE
U9 & e Z fhw S § 7

(1) TGA (2) DTA

(3) wulEd 1 (4) SThEd ¥ ¥ B T
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10

11

12

DTA technmique is widely used for -
(1) Identifying minerals and mineral mixture,
(2) ldentifying metal and minerals

(3) Identifying metal and metal ions

4 Al

DTA fafy @1 wam fear s/ 3 -

(1) wfel ud e e o 5 e $ AR
(2) wig v whel W T & %

(3) o TE urg omEEl B TN O b e
(4) Sule @i

Differential thermal analysis (DTA) is which type of technique ?

(1) Thermoanalytical (2) Thermodynamic

(3) Both (4) None

anfrafaddy Rrgdmor faft few yeR @ TwdE & 7

(1) < fageyoTeTs (2) a Tfas

(3) S @ (4) vEd ¥ ® B ff T

An ionic bond can be formed between two atoms when -

(1) One of them has low ionization energy and another high
electron affinity

(2) Both the atoms have low ionization energy
(3) Both the atoms have high ionization energy

(4) Both the atoms have low values of electron affinity

g Y] & He oG o gl § wERE -

(1) TH B AT ST BT AW B & 3 qEC P Foiag™ I I 8
(2) QA UTVE @l AW el @l I @ B

() W e W AT T Bl HE I @

(4) T TVRH W SO YW W A B
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13 The number of wibrational degree of freedom in H,O is -

(1) 4 (2) 3
3y 2 (4) 5
H,O0 # wmst &1 @dsal @ ®ife & den & -
(1y 4 ) 3
3y 2 4 5

14 ICP technique is used for which of the following ?
(1) Determination of structure of organic compounds
(2) Determination of structure of inorganic compounds
(3) Multi element determination over a wide concentration range

(4) Determination of molecular weight of compound

ICP goltes formr & @ frad fd wgewa A ¥
(1) @t DR B g @y

(2) ormEE dfE B g & iR

(3) foqga arsar 9 % wwilve a@l @ el
(4) AN & ovpur @ Fraiw

15 The gas which is mainly responsible for global warming is -

(1) €O (2) NO
(3) €O, - 4) SO,
qAUEHE ™ ¥ ghg & Mg B9 W 9 Sawr ¥ 7
(1) €O (2) NO
3) Co, @ S0,

16  Which of the following is not isoelectronic series ?

() cr,p3 ar (2) N7, Ne,Mg*
() B He Li* @ ~N3.852cr
[ LRI B A T IR R CRA R W S

(L ¢ p3, ar (2) N7, Ne,Mg™?
() BV He Li @) N7,82.cr
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17 The chemical shift of proton on the '§' scale is 4, the value on the '¢'

scale is -

(y 4 Q) 6

(3) 5 (4)" 8

'§' The WX AR W & aEbtee e @ 9M 4§ @ 't ®ha W
IE WE BN -

() 4 2) 6

3) 5 (4) 8

18  Out of N,0,CIF, S0, and [;, the linear species are -
() N0 and CiFy ) ¢ty and I3
(3) 15 and SO, 4y SO, and CIF
N2O,CIFy 80, @& ; W & Wi werfa ¥ -
(1) N0 W CIF, 2) CIF W@ I

(B) 13 W SO, 4 SO, W Cify

19 Which of the following is not a polar protic solvent 7

(1) Liquid HF (2) Liquid NH;
(3) Anhydrous H,S0O, 4 SO,

e & @ @ w g ke Rewres § 07

(1) @@ HF (2) wE™ NH;
(3) T H,S0, 4y SO,

20 In which set of diatomic modecules, the bond order is 2.5 ?

(1)  NO,CN,CN~ 2) 0),NJ,CNT

(3) N, ,NO,CN @) 0;,NO~,CN~

fg gomoiimr ey & BN ¥ Wy ¥ o oww wmH 2.5 ¥ 7
(1)  NO,CN,CN~ 2) O, N,,CN*

B3) N, ,NO,CN 4) 0;,NO~,CN~
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21 What does ICP in ICP emission spectroscopy stand for ?

(M
2)
)
)

Inductively coupled plasma
Inductively current plasma
Inductively coupled phase

Induced coupled plasma

ICP S@we Weaerehiyl ¥ ICP %1 ddwg <1 § ?

M
&)

G s I | (2) YRR U7 AT

i gima areran (4) W@ ghma

22 The LCAO approximation method usually appear in -

M
)
)
)

] wEl W (@T gEeE Ay mee sward ¥ -

D
G)

The molecular orbital theory
Thermodynamics
Surface chemistry

Nuclear chemistry

LGN T (2) ST

qag @Ee e (4) T wWEe e

23  Extraction of Zinc from zinc blende is achieved by -

6
2)
()
)

Na == ¥ Nw & Freedo fed feon s & a8 & -

(1)
()
€)

(4)
98 A]

Electrolytic reduction
Roasting followed by reduction with carbon
Roasting followed by reduction with another metal

Roasting followed by self reduction

Tl s
FET & WY UHAT b A 9O B
T U h WY SR % AR WA &R

EAUTAT & IE HoA &
8
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24

25

26

Voltametric technique 1s used to -

(1) Study the aromaticity of compounds

(2) Study the solution composition through current potential relattonship
(3) Study the molecular weight of neutral compounds

(4) Study the structure of complex compounds

el ae-tionl @Y W R T % -

(1) el & tdafesar & semT & R

() g Fywa du % wem @ R deen % oo %
(3) TN AR F MR % e H el

(@) wiem At W G & oowemEd % feE

Thermometric titrations are used for determination of which of the
following ?

(1) Concentration of unknown substance

(2) The reaction stoichiometry

(3) Thermodynamics quantities such as AG,AH and AS

4) All

afd P § ¥ fpw e & T wge few e @07
(1) orsna wered @ g & MaiRw & fag

(2) ofufrm & wE@RER & fafo F fag

(3) TeTTRE TRET S AG,AH T AS & THaRw % W
@) @i

Which indicates the correct variation in electro negativities ?

(), F>N<OQO>C 2 F>N>0>C
3) F<N<O0O<C 4 F<N<Q=>C
g womeer ¥ Rraww w wd W ¥ -

(N F>N<QO>C 2) F>N=>0>C
3) F<N<O<C 4 F<N<O=>C
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27 The llkovic equation is -
(1) K=A-e” Ea/RT @) 1,=607n pl/2 273 /6

i

. RT
3y L=L,+——log

3 P 4 V=IR

SABIE TG F —

(1) K=A.e Ca/RT @) 1;,=607n D2 w2316 ¢
. RT i

() E:Eﬁ?log - @ V=R

28  Which one of the following elements has valence electrons in the n=3

shell 7

(1) Berylfium (2) Oxygen

(3) Silicon (4) Neon

frr o @ fho 9@ & TOSTHal SR % n=3 wa H B 7
(1) bferm (2) oTEER

(3) TafwsE @) Fom

29  In which of the following complexes the nickel metal is in highest oxidation

state ?
(1)  K,NiF; ) Ni{CO),
@) | mi(nes)s | (874), @ K[ Ni(CN)g]

1 4 o Rea 9 § Frow ag o enedlevor ommen afimaw ¥ 2

(1) K,NiF 2) Ni(CO),

G) | i(wvHs)g | (BE), @ Ky Ni(CN)g]

98 A] 10 [Contd...
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31

32

33

Which of the following is used as coagulants in water treatment technology ?
(1) FeSO,-7TH,0 (2)  ALSON,- 18H,0
(3) FeCh (4) All of these

A MU WD W W F TRE # O b w0 WA e
T E 7

(3) FeCly (4) ¥ ®wd

TGA can be used to evaluate which property of a material ?

(1) Thermal instability (2) Thermal stability

(3) Kinetic stability (4) None

TGA fafy & Frr & ¥ ward & fFE voR & QU &1 aee feE S
Al § 7

(1) arfg sregE (2) TE wEE

() s aEE (4) wolEd ¥ 9 @wig =&

Electrolytic refining is used to purify which of the following metals ?

(1) Cu and Zn (2) Ge and Si

(3) Zr and Ti (4) Zn and Hg

P % ¥ R orged a1 3@ shew R @ wReRer R st ¥ 7
(1) Cu ug Zn (2) Ge uq Si

(3) Zrug Ti (4) Zn ud Hg

Thermogravimetric analysis (TGA) is used for which of the following ?

(1) For quantitative measurement of any weight changes associated with
thermally induced transition

(2) For compositional analysis of electrolytic solutions

(3) For the study of the complex compounds

@) All

Rmiie fwwe @ e F & Ry uge few s ¥ 7

(1) wdg AR e § dag WR IREdd & AT A 6 Ty
(2) fayn swagm faemm % dued faswiww & T

(3) wiw WPl & g & @y

(4) @i

98 A] 11 [Contd...




34  Polarogram is given by which of the following ?
(1) A resistance — time curve (2) A potential — time curve
(3) A current — time curve (4} A current — potential curve
e & ¥ fred g Ao e s %7
(1) vfedw - 99 9% 2 Ta - g9g @®

() 9 - ¥HE 9% 4y ur - g aw

35 The structure of IC/, is -
(1) Linear (2) V-shape
(3) Pyramidal (4) Tetrahedral
ICly =« ¥ § -
(1) &g (2) V-ITBR
G) b (4) g

36 Poly acryl amide (PAA) is used in water purification technology as -

(1) Coagulant (2) Flocculant

(3) Both (4) None

W JEET H Ul WHEW QASS B Wge Bl Wl & -
(1) ®YE= (2) W

(3) A @ wd 8

37 Which one is an acidic auxochromic group ?

(1) Enolic (2) Niro

(3) Alkoxy (4)  Amino

e W @ B W um e eTeihe w ¥ 7
(1) s 2) =g

(3) TwHEE () e
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40

The water sample is stored at which of the following temperature to
minimize microbiological activity ?

(1) 4°C (2) 25°C
(G) 50°C (4) 0°C

WA & T B B § ¥ few q W e ®hegd ® | @ %
fg wyfea R @@ ¥ ¢

(1y 4°C (2) 25°C

(3) 50°C @) 0°C

Galvanisation of iron sheets is done by -

(1) Cu plating (2) Zn plating
() Ag plating (4) Tin plating
WE Wa B Al e gra Rean @ ¥ 7
(1) Cu T (2) Zn wfew

(3) Ag @t @ fer wfén

Separation of ions by an ion changer depends on which of the following ?
(1) Nature and structure of the ion-exchanger

(2) Nature of the analysed substances

(3) Temperature of the experiment

(4) All are correct

e fafr g st @ quee Fe A 9 fem o PR e ¥ 7
() omgT-fatret @& el 9 @@W W

(2) Tl wert @t gl @

(3) WAMT & AN 9

@ @ ¥

98 A] 13 [Contd...
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42

43

44

Mossbauar effect 1s related with resonance fluorescence due to which of
the following 7

(I} Beta rays (2) Alpha rays

(3) Gamma rays (4)  X-rays

RIGCICENE G R B o I e IR i i e B
(1) e fpzor (2) orew ROl

(3) e (4)  X-fepoy

Element in maximum amount on the earth is -

(1) Hydrogen (2) Oxygen
(3) Carbon (4) Silicon

vyl ¥ arlyeead Aem W uEn o ¥ -

(1) wEge 2) s
() @A (4) fafras

Electronic excitations occur in which of the following range ?

(1) 200 — 780 nm (2) 100 — 500 nm
(3) 50 — 700 nm (4) 290 - 1200 nm
Toaie Soem e § 4 few 9w ¥ @3 ¥ 2

(1) 200 — 780 nm (2) 100 - 500 nm
(3) 50 — 700 nm (4) 290 — 1200 nm

The shift of an absorption maximum towards longer wavelength is
known as -

(1) Hypsochromic (2) Bathochromic

(3) Hyperchromic (4) Hypochromic

sAftean er@siuw & st aoRe @ ok faenmuw w0 wer wmar & -
() Rt @) et

(3) EEITHID (4) wTEURRIRE
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45 Lead can be extracted from -

(1) Magnesite (2) Carnallite

(3) Bauxite (4) Galena

T & Preadu Be ¥ ¥ few ome ¥ @ Teen W ¥ 7
(1) #~EEe Q) @RS

(3) s @) e

46  Rusting of iron is catalyzed by -

(1) Fe (2) 0,
(3) Zn 4y H*
(1) Fe 2) O,
(3) Zn 4 H*

47 Non crystalline form of silica is known as -

(1) o-Quartz (2) y-Tridymite
(3) P -Christobalite (4) Quartz glass
fafwent @1 otfpelg B0 WFT W@ § -

() o-FS (@) Y-ZTTEEREAES
() B-freiEmse (4) S W@

48 In the octahedral ligand field, 3d orbital will split into which of the
following energy levels ?

(1) Two (2) Three
(3) Four (4) Five

FeEAe s &3 § 3d @ee e F 9 e o= wd ®
frafea & ?

(H ) I

(3) TR (4) dtg
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50

51

Misch metal alloy used to make bullets consists of which of the following
alloys of iron ?

(1) Transition metal (95%) (2) Actinide metal (95%)

(3) Lanthanide metal (95%) (4) Alkaline metal (95%)

TEE d Ml T F wE H AW A et Few #F @i T Rew fiw g
H WM B 7

(1) dpno1 9 (95%) (2) TEES U] (95%)
(3) WIATEE uN (95%) (4) §X 4g  (95%)

Nobel gases have very low boiling point because of which of the following ?
(1) These are mono atomic

(2) They have no interatomic forces

(3) They have weak dispersion forces

(4) All (1), (2) and (3) are correct

fra % ¥ fres oo e A9 @ F@uEis 9ga ®H eldr § 7

(1) 4§ Th TeEE ¥ |

(2) T P§ ATANH A &l BT T

(3) T Fguer @ ek B T

@ (1), @) @ ) T E

Which of the following shows strongest ligand field ?

(1) CN- (2) NO,
(3) NH, (4) En
1 F @ B9 yaaew fivs o s ¥ 7
(1) CN- () NO,
(3) NH, (4) En
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54

Which of the following, as mobile, phase is employed for HPLC detection
of morphine in blood on silica column ?

(1) Butanol and heptane mixture

(2) 70% acetonitrile in aqueous solution

(3) Methanol and ammonium nitrate solution

(4) Heptane and tetrahydrofuran (80 : 20) mixture

A% & ad e sied 77 gudiowd. § gar e % fag e
¥ ¥ fen wlaslier o & 96 TR B 8 7

(1) =EA| T 2= & g

(2) 70% UHRMGEIRA & Joig fas

(3) WeFid ud smif TEde @ fawe

(4) ¥R @ I EEHERA (80 : 20) W1 frmw

The correct order for solution of a mathematical problem from a computer
18 -

(1) First write algorithm, flow chart and then computer programme
(2) First write computer programme and then algorithm

(3) Computer programme is entered in to the computer

(4) None of these

T ¥ UH T @@ B g BT BT WE BH BT -
(1) T genrem fyew, e w o T o= A

(2) W wRge g fwe e e

(3) WL WU B L W FAYN BT W

4) T § B TE

In the Brown ring test for nitrates which of the following reaction occurs ?
(1) Oxidation of nitrite into nitrate

(2) Reduction of nitrate into mtric oxide

(3) Oxidation of nitrate nto nitric oxide

(4) Reduction of nitrate into nitrite

A & L I TOEW ¥ e ¥ § @ o uiwdw sfwkeen ek ¥ 7
(1) TEIET &1 TR H TRl

(2) TELZ W TGRS oeEREsS H erueEd

(3) WEIT & gl oNGUES H TR Ul

(4) ELE BT ELEE W AT

98 A 17 [Contd...




G 2 . .
55 For the Ihg €¢ sSystem, the value of magnetic moment is -

(1) 2.83 BM (2) 1.73 BM
(3) 3.87 BM 4y 4.92 BM
(el R % Rl g owm @ oA ¥ -
(1) 2.83 BM 2) 1.73 BM
(3) 3.87 BM 4) 4.92 BM

56  Which of the following is correct in case of organolithium compounds 7

(1
2)
€)
)

ety Afel & ey § o 0 @ wd ¥ 7

(1)
)
3)
)

React rapidly with water
Spontaneously flammable in air

Spontaneously flammable with water

Spontaneously not flammable with water vapours

@ ¥ W Aol o afier En S
g A el S ¥

o o @uid sEeEsie g

i 9 & ower @l s T8 g

57 Which of the following is soft base ?

M

€

CH5C00™ @ g~

NOS @) coy

Prefefes % @ g AR BT E 7

(D

)

98 Al

CHZCO0™ @ y-
NO3 @ co;
18
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Which of the following shows a “Sandwich” structure similar to that of
terrocene ?

(1)  CH;MgBr (2) Mg(CsHs),
(3) C,HMgBr (4) CsHsMgBr
P 4 4 @ $0dw F wum dem dvam aofd ¥ 2
(1) CH;MgBr (2)  Mg(CsHs),
(3) C,H;MgBr (4) CsH;MgBr

Which of the following has maximum number of unpaired electrons ?

(1) d* - octahedral (2) d - octahedral
(3) d7 - octahedral 4y d® - octahedral
= 6 A fred v sifuean egfine sewgi &2

(1) d° - IHwsH (2) d° - TChAGR
(3) d7 - ar=wEEE @) d° - srewwaIg

The nature of Grignard reagent in solution is complex and does not depend
critically on the nature of which of the following ?

(1) Alkyl and halide groups
(2) Concentration of the solvents
(3) Temperature

{4) Pressure

g st @ vy fifms ¥ fee ¥ oF P & e woly
W wifoa G ax Preiv ol e ¥ ?

(1) uwEd wd 3oEs 9@ W
(2) fawmel & dgigem TT
(G) W 9T

(4) TE W
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64

Which of the following metal oxide is not used for preparation of metal
carbonyls with carbon monoxide at high temperature and pressure ?

(1) 0S80, 2) Te,0,

(G) Re,0, (4) Fe,0,

e A § B W ug SRS B AN SEEES 6 WY 9w 49 T
@ WX U HE( T A § 7

(1) 080, 2) Te,0,

(3) Re,05 (4)  Fey04

Among the following ions which one has the highest paramagnetism ?

(1) [Cr(HzO)G ]+3 @) I:(.'zr (#0)4 ] 2
¢ [Fe(t,0)]" @ [z(t:0),]"
Preffa & @ @ @ o sftean sIggRdEa @ ¥ 7
1y | cr(#;0) 6]+3 @ [cu(H0)] "
@ [Fe(r0)]" @ [z(#:0)]"

Organotin hydrides in aqueous chemistry are important as which of the
following ?

(1) Oxidants (2) Reductants

(3) Catalysts (4) Inhibitors

RIS TEEEe wom wEe fwm ¥ Ssd ¥ S e F w2
(1) STrRIERS (2) oTEEHRE

(3) U@ @) arm

If the molecule of the type AB4F, has four bond pairs and two lone pairs,
the geometry of the compound 1s -

(1) Tetrahedral (2) Square pyramid

(3) Square planar (4) T-shaped structure

afy AB,F, WX & U] H WX SMEH g TI A ThHih! swag[ g
%, a9 dfte @& vy ¥ -

(1) TIHADE ) @t s

(3) T THA (4) T-Y&R B ©IET
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65  Thermal decomposition of calcium oxide monohydrate can be assessed by
which of the following analysis ?

(1) Thermometric Titration Analysis
(2) Pyrolysis Curve Analysis
(3) Voltammetric Curve Analysis

(4) Madsbauer Spectroscopic Analysis

BT ATEARS THBESE & ardia Rreew o B 4 4 B ufem @
AT ST gl & O°

(1) wHiffes gEm fRrgewor
(2) TAU-SATERN ab TaRwoT
(3) reeriifed @k Taseraor
(4) HEaR TR vy

66 Uranium exhibits in several oxidation states because of,
(1) It is an inner transition element.
(2) Its atomic number is high.
(3) Sf orbitals participate in the bonding.
(4) It forms strong bond with oxygen.

TP o onediaR s ity s 3ot -
(1) I% & Siddmm o |

(2) SUH YT e se )

(3) 5f %@ 49 T F 9T way i

(4) T® AT & WU YIA T G0

67 Which of the following cations has the largest size ?

(0 gct3 @) ¢¥
@) La® A 4ch
e & 4 B ¥ oI @1 e ety ¥ 7
N sc+ 2 ¢+
G) La® 4 4t
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69

70

Most suitable solvent for the extraction of uranium 1s,
(1) CHCly with EDTA

(2) 3-Methyl butanol

(3) 8-Hydroxy quinoline in CHCl4

(4) Butyl acetate

qfem & Trepdn & R waifve swgw faws 3,
(1) EDTA & @& CHCL

() -9 W

(3) S-EEEERI A & W CHC,

@) “HoEd QT

“Only two electrons may exist in the same orbital and these electrons must
have opposite spine” is stated by which of the following ?

(1) Hund's Rule (2) Pauli's exclusion principle
(3) Aufbau principle (4) Schroédinger Equation

“Ueh HETeh B Had & Sede {8 "hd & T 3 9hvl ud B d9ned”
=t & @ fRET a8 wew REm oan 7

() % @1 Fram (2) TRl W ggea fam
(3) onhas THEE (4) AREwR THH

The electronic configuration of chromium element is given by which of
the foliowing ?

(1) 1s22s22p®3523p63d>4s! (2) 1s22s22p53523p04s13d3
(3) 1s22522p93523p63d>4s2 (4) 1s22522p®3523p%4s23d>
frm ¥ o forsd oo wibtmw 9@ @ soweny R fEm s €7
(1) 1522522p%3s23pS3d34s! (2) 1s*2s22p63s23pS4s!3dd

(3) 1522522p®3523p03d4s? @) 1s?2522p63523pb4s23d>
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71 Vitamin B, is the co-ordination complex of which of the following ?

(1) Mg (2) Fe
) Co (4) Zn
frefir By, Pr & ¥ Reww wga * 7
(1) Mg (2) Fe
3y Co 4) Zn

72 Zr and Hf have similar atomic and ionic radii because -
(1) of diagonal relationship
(2) both are in the same group
(3) of Lanthanide contraction

(4) they have similar chemical properties

Zr 3R Hf & TArEE 9 ofae BRud 999 ¥ wie -
(1) sEIW dEdl F drm (2) W e ot ¥
(3) WIES WPTT B RO (4) TR (WAL [0 99H ¥

73 The number of electrons in an atom that has quantum number

1 .
H=4 m=—— 15 -
2

(1 4 (z) 8
() 12 (@) 16

@Wﬂﬁﬁﬂﬂiﬁmmnz4,m:—% €, ° fpad soegm ¥ 0

1y 4 (z) 8
3y 12 @) 16

74  Which one of the following is called the brain of computer ?

(1) Printer (2) Hard disk
(3) CPU (4) Keyboard
1 o @ B wrgex w1 oo ®e T ¥ 2
(1) B=x Q) W =
(3) ddig, (@) Poged
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75 The valid pattern of electron distribution for d* ions is given by
which of the following ?

(1) tyle,! Q) e,
(G) tyle, @ e,
o N TN A w g YR R Y g e W ¥ 7
(1) ty'e,! 2)  tyle,?
3) tle # 0!

76 The complex ion which has no d-electron in the central metal atom is -

-

W [Mn0y] @  [co(nrs),] +"
Gy [Fe(cny] = @ |cr(# 20)s ] "
o R e oy womy A d-qe O ¥ -
) [MnO,]” 2 [CO(NH 3 )s] "
¢ [Fe(cN)e]” @ [cr,0),]"

77 Laport allowed transition may be regarded as -
() g—8 2 g-ou
3y w-u 4) Al
A AT HWHTA d AF S & -

N g—¢g 2) g—u
3) u—ou 4) T

78  Which of the salt of the following anions is not fully soluble in ammonia 7

(1) Nitrites (2) Nitrates

(3) Cyanides _ (4) Sulphates

frer ¥ ¥ fpg waEe @ waw omitn ¥ g aw § gee| T8 ¥ 7
(1) TR @ "

(3) wwEEEE (4) W
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79 Common adsorbents or stationary phase that can be used in adsorption
column chromatography are -

(1) Alumina (2) Silica gel
(3) Cellulose powder 4y All

A AL a1 Wl (erw) ween Y sEeiee siew s §
e fpar WA ¥, uw ¥ -

(1) usgfir @) Tl S
(3) dgEE TEs @) wW

80 Which of the following is an amphoteric oxide ?

(1) MgO (2)  AlO;
@) Sio, 4) P,04
= & ¥ & @ seEs 9wl ¥ 7

(1) MgO (2) Al,O,
(3) Si0, (4) P,05

81  The indicater used for the determination of hardness of water is -

(1) Phenolphthalein (2) Eriochrome Black-T

(3) Methyl orange (4) None

q@h W S @ HoRal & ek & wge fea @ ¥ -
() Rererwdfes (2) B =qH-T

G) A et (4) @1 &

82 Titanium shows magnetic moment of 1.73 BM in its compounds, the
oxidation number of titanium in the compound is

() +1 2y + 4
3y +2 4 +3

et Fe A ¥ 173 BM %l gemia amgel et ¥, AR &
TEEm B ererdieRwr e ¥ -

n +1 (2) + 4
3 +2 4 + 3
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84

85

86

The full form of BOD is -

(1) Biological Oxygen Demand

(2) Bio-chemical Oxygen Demand
(3) Bacteriological Oxygen Demand

(4) Botanical Oxygen Demand
BOD &1 WU W ¥ -

(1) T e fsaws
(2) aEEREE ST s

(3) SRIMERA s e
(@) TFhww orwdwE s

The mechanism of transfer of sample between phases may involve -
(1) Ion - exchange (2) Surface adsorption

(3) Solubility and volatility {4) Al

srereeniall % dra vl % e W Reenfufy ¥ s Rewn san ¥ -
(1) oma fafrma (2) T@El I

(3) Taermar e amsTelieman @ TR

The lanthanides have electronic configuration with gg¢? in common but
with variable occupation of which of the following energy level ?

(1) op levels (2) 5d levels
(3) 4d levels (4) 4f levels

RSl W 652 RGO g B A ® e e )
¥ o & = &7

(1) 6p &% (2) 5d &%

G) 4d =¥ (4) 4f @Y

Micronutrients for plants present in soil are -

() N,PK (2) Ca, Mg, S
(3) Fe, Mn, Cu (49) U, Np, Po
def ¥g g H Suiew g Ue ad ¥ -

(1) N, P K (2) Ca, Mg, S
(3) Fe, Mn, Cu (4) U, Np, Po
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39

920

Which of the following process occurs in the fluorescent lamps and
glow tubes ?

(1)  Spark (2) Fusion

(3) Fission (4) Artificial plasmas

yRedl Sy wd T dmE ¥ W whew W O %, 9 wewwl ¥ -
(1) w@H Q) dwE

(3) fr@ved () Pm

The statement “Interaction between the metal ion and the ligands is a purely
electrostatic problem” corresponds to which of the following ?

(1) Valence Bond Theory (2) Molecular Orbital Theory
(3) Crystal Field Theory (4) Ligand Field Theory

“grg ST gd gl & A fage v Ree @ifes e ¥ wew fre
¥ fouy daftm § 7

(1) a9 e (2) o weae

Gy =g &y Rera (@) @ A fram
The conjugate base of H,0" is -

(1) Hf ) H0

() H0, (4) OH"

H;0" %1 sigig &) & -

(1) H* 2y H,0

3) H)0, {4y OH-

Which of the ions will give colourless aqueous solution ?
(1) Cul* (2) Cu?t

(3) Fe* (4) Ni?*

@ W AT TR W frems @ ¥ e

(1) Cu'* 2) Cu?*

(3) Fet (4) Ni2*
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91 H;BO; belongs to which of the following categories ?
(1) Monobasic and weak Lewis acid
(2) Monobasic and strong Lewis acid
(3) Monobasic and weak Bronsted base
(4) Trbasic and weak Bronsted base
H,BO, f1 & & fpm &t & wen s ?
(1) umaTdy oYy qd« {3® ord
(2) umalE &R TEd gIE o
(3) THANE S g0 IS AR
(4) Py s F@ TERs &R

92  For remediation of acidic soil following chemical is added. Which of the
following chemical is used for remediation of acidic soil ?

(1) Lime (2) Sodium chloride

(3) Nickel sulphate (4) Sodium carbonate

Prg § F B w1 gEte wad ol gar b Ot § uga Bk 8¢
(1) wEH () oftam FRES

(3) Frrer aehe (@) Wy HEM

93 The fundamental unit found in all the silicates is -

(1) Sio,™ (2) Sio,

(3) Si,0572 4) Si,0,;°

gy fafrel o orlt oW T enad @ % -
(1) Sio,™ (2) Sio,

(3) Si,0572 4) Siy0,,™°

94 The study of soil is known as which of the following ?

(1) Geology (2) Minerology

(3) Pedology (4) None of these
G izo s e L B B S TS 0T

(1) fsam=T (2) T

(3) s @ T q BE
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97

The rare earth is used for which of the following ?
(1) Lanthanides only

(2)  Actinides only

(3) Both Lanthanides and Actinides

(4) Alkaline earth metals

Pt % 4 fred T gofw goug waem &) st ¥ 2
(1) e WSS

2) Fad TFAES

() TEAEE ¥ wENEs O % R

(4) TwheE & g

The sample phase is a gas in which of the following techniques ?
(1) Affinity chromatography

(2) Gas - liquid chromatography

(3) Gas - solid chromatography

(4) Gel chromatography

e 4 ¥ fra aeie § T @ ormen ¥ 7

(1) =& HERwms

) =g BEHIETEH

() Te-3m HEETTE

(4) SiE-HERE!

The separation of lanthanides in ion-exchange method is based on -
(1) Basicity of lanthanides

(2) Size of hydrated ions

(3) The solubility of their nitrates

(4) Oxidation state of the ion

o -fatrr faf % Fdvigse #1 gueeor ReE ur ommiRE ¥ ?
(1) v=TESE ® &ar 1

(2) wEANTE STl % ARIR WX

() T WL @ faemar Wy

(4) ST B ARG FHI UL
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98 Raman effect is based on which of the following ?
(1) Inelastic scattering of light
{2) Elastic scattering of light
(3) Absorption of light
@ All
wH ouwE e ¥ ¥ e wX oenuiia@ ¥ 7

(1) eIy & oad% @l
(2) WeBIeT Bl TEhR AT
(3) WY HBT ST

@ af

99 Intensities of Raman scattering is proportional to which of the followmng ?
(1) Number of scattering species '
(2) Concentration of the sample
(3) Both (1) and (2)
(4) Number of absorbing species
o foaa & S fra ¥ @ fewe wwgoer e) ¥ ?
(1) oo Tt yoiEl @ @' W
(2) werd @ " W
Gy ()3 @) W
(4) SrEME wenkEl @ @E W

100 In calcination process which of the following phenomena takes place ?
(1) Polymorphic conversion
(2) Diffusion of reagent
(3) Loss of water and CO,
(4) Hating with moisture and CO,
el ythwr ¥ Fr ¥ @ B @ e gl § 7

(1) <&y U

(2) oitheie @1 faEe

(3) W B @ @ CO, & Fieber
4 = T CO, ¥ WY T &
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